ITI Emplobiality Skill Nimi Question www.ncvtonline.com

Module:1. English Literacy | 3f3sir Q18T

Q1. A resume should be | Tk STAISTET 8l AT T

A) short and precise | @f&ied 3R @i+

B) fancy and colourful | &Y 3iR Tier

C) having long and detailed information | Wﬁ?ﬁ?ﬁﬁmm
(D) having acronyms and abbreviation | aRauff ereq 31X GfeTea AT glar
answer: A,

(
(
(

Q2. A written description of duties and responsibilities to be carried out in a job is called |
AR F fhT S arel Shaedt 3R fSFEAeRat &1 fafead faaor sgearar g

(A) CV

(B) Job description

(C) Resume

(D) Job application

answer: B,

Q3. After receiving interview call, what is the next step? | AT&TchR el UTC A & §1G,
3TAT e T glaT AMT?

(A) Send application letter | 3iTdcsT I ot

(B) Prepare the resume | RegH IR &Y

(C) Appear at interview | AT&TTchR # 39U &

(D) Send resume | Reg# &st

answer: C,

Q3. Choose suitable “wh” word for the given sentence|feT 1T g & foIT 3UgeFd “wh” ersg;
HTI TTA - © animal do you like?

(A) Which

(B) Why

(C) Where

(D) When

answer: A,

Q4. Choose the correct punctuation mark after the word “Rohan” in the given sentence|fgT
T ATFT H “UgeT” AUsE, & §1¢ ol [auH RIgsT &1 II HITAT - “Rohan David and Ram are
playing hide and seek

(A) Comma (,)

(B) Period ()

(C) Slash (/)

(D) Hyphen (-)

answer: 0,

Q5. Choose the correct response for the given question. |feT 1T 5RaT & fT TEY 3R i |
“‘How have you been”?
(A) Very well, And you?
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(B) Thank you, And you?
(C) Same to you

(D) On vacation, And you?
answer: A,

Q6. Choose the correct response of the given question | f&T aTT 9R&T T HET 3R IfT-
“When did the accident happen”

(A) in the hotel

(B) during travelling

(C) At 10:30 last night

(D) On the table

answer: C,

Q7. Choose the correct tense of the verb.| fShaT T FeY el It | music when |
was child.”

(A) learn

(B) am learning

(C) will learn

(D) learnt

answer:D,

Q8. Curriculum Vitae (CV) is also known as|Curriculum Vitae (CV) &I & &7 & HY ST ST &
A) resume

B) job description

C) cover letter

(D) application letter

answer: A,

(
(
(

QO. Fill in the blank with comparative adjective | JelelTc#reh fALINOT & Reret TUTT I et
FIfST- “Your pencil is than mine”

A) sharp

B) sharper

C) blunt

D) thick

answer: A,

(
(
(
(

Q10. Fill in the blank with correct future tense of verb | ThaT & T&r #iasT Frer & a1 R
TUTT Y - “We to the zoo after Breakfast *

(A) went

(B) are going

(C) had gone

(D) will go

answer:D,

Q11. Fill in the blank with correct word | E&Y 2rec ¥ Reray FTet & gfet FHIfre -
“They good friends”
(A) is



(B) am

(C) are
(D) was
answer: C,

Q12. Fill in the blank with present progressive tense of the verb | 3T & adTeT warfaefier
el H e TATeT T el Y - “The train through the tunnel”

(A) passed

(B) is passing

(C) had passed

(D) was passing

answer: B,

Q13. Fill in the blank with proper interrogative adjective | 3/ Ie=Taraes faQwor & Rerd T2
&1 gt Hfarw - « are you going?

(A) Who

(B) Where

(C) Which

(D) Wha

answer: A,

Q14. Fill in the blank with proper pronoun | 3T FATH | Rered F2u1eT 1 et Pfare -«

made this cake
(A) myself

(B) yourself
(C) himself

(D) itself
answer:A,

Q15. Fill in the blank with proper pronoun. | 3T FATH & RereT T2UTeT 1 it TS| “She
made this cake

(A) itself

(B) myself

(C) herself

(D) himself

answer: C,

Q16. Fill in the blank with proper reflexwe pronoun. | 3T FHaras TaAT ¥ Rerd TUmeT i
qfct IfatT| “She has hurt

(A) myself

(B) herself

(C) himself

(D) itself

answer: B,

Q17. Fill in the blank with suitable adjective for the given sentence | iGT 31T ateg & farw
3G faIvor & Rered TUTeT 1 gfct FTAT “The little girl’s....... eyes revealed her mischief’
(A) chubby



(B) weak

(C) short sighted
(D) twinkling
answer:D,

Q18. Fill in the blank with suitable place preposition | ugerd TUTT qa&T o AT ReFel TATA
I qfci - “My house is the third floor” ?

(A) at

(B)in

(C)on

(D) under

answer:C,

Q19. Fill in the correct question word | TgY 92T ersq, 33- is the speaker at
the function” ?

(A) What

(B) When

(C) Why

(D) Who

answer: D,

Q20. Low level language is also called? | oo T T $TST T T FHgl ST 872
(A) source code

(B) middle ware

(C) machine language

(D) assembly language

answer: C,

Q21. Pronunciation refers to | 3TaROT &Y HEfHd T &
(A) diphthong

(B) consonant

(C) punctuation

(D) production of sound

answer:D,

Q22. Re-arrange the following set of words into meaningful sentence | fAFAfeIRad 2real &
HHE Y YUY ATy H JAedafeyd - “teacher / school / worked / she / a / as”

(A) School worked as a she teacher

(B) She worked as a school teacher

(C) She teacher worked as a school

(D) Worked she as a school teacher

answer: B,

Q23. The word that expresses a sudden and strong feeling is called | 3TTeTeh 3R TaeT $TG=AT
I TFd el dTel ASE T g &

(A) punctuation

(B) interjection

(C) conjunction



(D) apostrophe
answer: B,

Q24. When you greet higher officials such as Teacher, Instructor or Supervisor, you should
use | 3T& 3179 18T, Uit a1 wdasTe SR 3Ta IR 1 31ffarea #d g, ar 3maeRr
39T AT AT

(A) “Good morning”

(B) “Hello”

(C) “Hey”

(D) “Hi”

answer: A,

Q25. Which is a silent letter in the word “ANSWER”? | “ANSWER” 2le¢, H Teh Heh &N HieT
arg

(A)R

(B)E

(C)S

D)W

answer:D,

Q26. Which one is a “Do’s” of discussion etiquettes? | i AT “Do’s” =TT fASCR &1 872
(A) Loose your temper

(B) Listen to others

(C) Talk about irrelevant details

(D) Use impolite or rude language

answer: B,

Q27. Which one is a “Don’t” of discussion etiquette? | &I IT “Do’s” =TT fRASE™IR T &7
(A) Be open minded

(B) Use moderate tone

(C) Listen to others

(D) Argue unnecessary

answer:D,

Q28. Which one is a cardinal number? | Ifaeel sieR hisT AT §?
(A) 10

(B)V

(C) VI

(D) XI

answer: A,

Q29. Which one is a cardinal number? | FIfSel e} Pl AT &7
(A) X

®) Il

(C) IV

(D)3

answer:D,



Q30. Which one is a cardinal number? | SIfSdel #Aax Pl AT &2
(A) IV

(B) 10th

(C) 1st

(D) 1

answer:D

Q31. Which one is a cardinal number? | FIfSdel Aax Pl AT &2
(A) One

B) Fifth

(C) Eighth

(D) Second

answer: A,

Q32. Which one is an exclamatory sentence? | AEFafeate arerT HiT arg?
(A) What a beautiful house it is!

(B) It is a beautiful house

(C) Is it a beautiful house?

(D) Your house is beautiful

answer:A,

Q33. Which one is in active voice? | @leT TfshT 3TTATT H §7
(A) Ram has passed the exam

(B) The ball was caught by him

(C) The book was being read by he

(D) We were driven home by dad

answer: A,

Q34. Which one is in passive voice? | TSI 3TaTsT # ahisT AT &7
(A) Mohan is painting a house

(B) She was reading a book

(C) Her birthday was celebrated by us

(D) I have seen that movie

answer:C,

Q35. Which one is NOT a conjunction? | &lsT IT Ueh HAVSTeT 16T 87
(A) And

(B) Or

(C) But

(D) On

answer:D,

Q36. Which one is NOT a benefit of the role playing? | #1f#ehT f¥e1TeT T shieT AT ATeT TET &2
(A) Builds confidence | 3TTcAIRamd SATaT &

(B) Develops listening skill | ool T hieret faef&et e &

(C) Develops creative problem-solving skill | TaalTcH® THEIT-THATTA hirel AR TadT HIAT &
(D) Develops boredom | SIRI fasfad T &

answer:D,




Q37. Which one is NOT a vowel? | isT TT Teh T 7T &2
(A)a

(B)e

C)f

(D)i

answer: C,

Q38. Which one of the following is a good office etiquette? | AT @d # & SleT-aT TH
3T FRATA AR 872

(A) One should dress formally | 3iaaTRe 9 & HUS Tg=T=TT AT

(B) One should not be punctual to work | ST & ToIT THI &I TG o1gT gl AT

(C) One should have fancy mobile ring tone | Y Aarser Rer @t glar =@nfew

(D) One should litter one’s work place | STEIFAel TR 3T STelell UMY

answer: A,

Q39. Word that is pronounced the same as another word but differs in meaning is called | 9§
Qreg; TSTeehT 3TART gEY 216G 3 T &1 Il &, Afehet 31 3 et Q1 &, Fganar &

(A) homophone

(B) homograph

(C) diphthong

(D) syllable

answer: A,
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Module:2. I.T. Literacy 37$.€I. AT&RdT

Q1. 1 Byte = | 19M8C =
(A) 2 bits

(B) 4 bits

(C) 8 bits

(D) 16 bits

answer: C,

Q2. Which one is a brain of computer? | ScgeX T fGATeT it AT 572
(A) Keyboard | &1

(B) CPU | Hrdr g

(C) Monitor | Affaex

(D) Hard disk | 8T8 3%

answer: B,

Q3. A computer system consists of | Teh sege fFeH & gid &
(A) software and program | ETFeadaX 3R Wame

(B) hardware and software | gT8d3R 3R AMFeazR

(C) mouse and keyboard | AT3H 3T 1S

(D) circuit diagram | @fdhe 3@

answer: B,

Q4. A program that infects other program by modifying them is called | Teh JIaITH ST @Y
QT T ALNTIT Fh Th AT Pl &, Pl &

(A) virus | arsTH

(B) antivirus | T&ARRA

(C) web page | a9 J*&

(D) note pad | silc 43

answer: A,

Q5. A software application used to enable computer users to locate and access web page is
called | HTIET IUAITHAT3T T AT UST T Tl ST IR 3H TIoh Tgeal H HaTH Tallad & foIw
ST AT e aTeY BT TTCeTaheret i gl STl & )

(A) web browser | 39 ST3oX

(B) web server | 3 &R

(C) web site | asHTBC

(D) email | AT

answer: 0,

Q6. An illegal activity committed on the internet is called | $elaic W & 715 313 Afafafer
FETdl &

(A) virus | arsH

(B) cyber crime | €SS 390y
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(C) search engine | @ISl S7eT
(D) social networking | Ao Aeafaar

answer: B,

Q7. Computer network that spans a regional national or global area is called | T &5
USERT AT ATk &1 3 el YT Sicdeh i gl STl &

(A) LAN

(B) MAN

(C) WAN

(D) CAN

answer: C,

Q8. CPU consists of | Edg & g &

(A) Control unit and ALU | fa5=o1 515 31X ALU

(B) Storage device and ALU | TeReT f3arsd 3iRk ALU

(C) Input and output devices | $19C 3R W%HE?

(D) Input device and control unit | geT9e f3arEd 3R Selel Ffae

answer:A,

Q9. CPU stands for | HI¥I &1 Adoe &

(A) Central Programming Unit | &¢eT S1aImiaeT st
(B) Central Processing Unit | ¥gel IATHIT Ifote
(C) Central Planning Unit | &I JST=TT ST

D) Central Progress Unit | I 93Tl SIS

(
answer: B,

Q10. For short distance, which network type should be used? | F# gdl & T fohd bR &
Seah T TN AT AMRT?

(A) LAN

(B) MAN

(C) WAN

(D) CAN

answer: A,

Q11. In an email, where will you add the recipient email address whom you want to send the
copy of an email? | Teh SHS &, 3T UTCehdl SH TdT el Sis ford 31T SHeT T 9fa Astar
6 672

(A) To

(B) CC

(C) Bcc

(D) Subject

answer: B,

Q12. In Excel, the intersection of a row and column is called | T 3 T I 3R PrereT T
SCIUFLA Fgolldl &

(A) cell | a7

(B) label | eisrer

(C) square | @3T




(D) worksheet | ®RIITH

answer: A,

Q13. In MS Excel, collection of work sheet is known as | THUH T , I 2fic & HIg FI
FTTH AT AT &

(A) worksheet | FRITTH

(B) workbook | s f&det

(C) excel book | g
(D) sheet work | effc g
answer: B,

Q14. In MS Excel, to insert a formula in cell, we must begin the entry with an operator | MS
Excel #, Tl H Teh BI#CAT STelel o fAIT, g4 Ueh IR o 1Y UL Y& hlelt AT

(A) =

B) $

C)@

(D) #

answer: A,

Q15. In MS Paint, which extension is not supported | MS U¢ & shisT TT TFgeer gafda e &
(A) -jpeg

(B) .doc

(C) .gif

(D) .png

answer: B,

Q16. In which orientation, the text is printed length wise? | fh& 3TRUCAH H TFEC T TS &
feare & e famar Srar g2

(A) Landscape | is¥hd

(B) Margin | #1foiaT

(C) Portrait | /=

(D) Width | @ii3rs

answer: C,

Q17. In which orientation, the text is printed width wise? | TF& 3RUCAT F CFEe &I dISS &
feare & e forar srar g2

(A) Width | Ttsr$

(B) Margin | ATfoiaT

(C) Portrait | =

(D) Landscape | oi3&ha

answer:D,

Q18. Program that infects other programs by modifying them is called | F13IT# ST 37T FaTH
I AT FTh ThiAd AT &, PeellaT &

(A) search engine | T Solel

(B) virus | arsTH

(C) antivirus | TEaRRA

(D) cyber crime | GTSET 30T




answer: B,

Q19. Spreadsheets are saved with extension | T35 effe TFHELIH & TATY TSl ST &
(A) xIs

(B) .doc

(C) .pdf

(D) .mp3

answer: A,

Q20. The expansion of LAN is | ofsT T fa&dR &-
(A) Local Area Name

(B) Local Area Network

(C) Logical Area Network

(D) Legal Area Network

answer: B,

Q21. The expansion of ROM is | ROM & fd¥ar &
(A) Read Octet Machine

(B) Read Only Memory

(C) Random Only Memory

(D) Rewrite Octet Machine

answer: B,

Q22. The expansion of WAN is | WAN & fd&dR &
(A) Wide Area Name

(B) Web Assigned Name

(C) Wide Area Network

(D) Web Aided Network

answer: C,

Q23. What does ‘ASAP’ stand for, in SMS language? | THUHTH HTNT H 'ASAP' &7 &7 31 &7
(A) As Silent As Probable | fS/d=T @$1d gt 3d=T HieT

(B) As Soon As Probable | fordsiT Stecr @sifad & a

(C) As Soon As Possible | fSidell STedy 81 T

(D) As Simple As Possible | TUTT T

answer: C,

Q24. What is a shortcut key for “Copy” command? | “eIdl” &S & T Aleshe FHoit 7T &7
(A) Ctrl + C

(B) Ctrl + V

(C) Ctrl + A

(D) Ctrl + X

answer: A,

Q25. What is a shortcut key for “cut” command? | “he” TS & ToIT AEhe ol T &2
(A) Ctrl +C

(B) Ctrl+V

(C) Ctrl+A



(D) Ctrl+X
answer: D,

Q26. What is a shortcut key for “select all” command? | “TT T TIT Y HATS & o7 ATEhe
ot T 872

(A) Ctrl +C

(B) Ctrl+V

(C) Ctrl+A

(D) Ctri+X

answer: C,

Q27. What is shortcut key for “Paste” command? | “U¥<” TS & AT eMcehe FHoil FaT 82
(A)Ctrl + C

(B) Ctrl +V

(C) Ctrl + A

(D) Ctrl + X

answer: B,

Q28. What is the cell address of 4th row and 4th column? | Tteft afea 31k @it Fiere &1 T
Tl FT 872

(A) 4D

(B) E4

(C)D4

(D) B4

answer: C,

Q29. What is the default name of newly created folder in windows? | [d8sT & dg A
hlesT & f3Whlee T FIT 872

(A) Folder

(B) New

(C) New folder

(D) Blank

answer: C,

Q30. What is the expansion of “FYI” SMS? | “FYI” THUATH & faFdR &1 872
(A) For Your Information

(B) For Your Identification

(C) For Your Internet

(D) For Your Innocence

answer: A,

Q31. Where all deleted files will be stored? | T3 §eTS IS BISTI I HEl TILI ThAT SITTIT?
(A) CD | rar

(B) Official folder | T8RS Hleax

(C) Personal folder | SfFdeTd HiesT

(D) Recycle bin | frarIeher foet

answer:D,




Q32. Which device is used to connect telephone line to a PC? | CollhIe dTgeT &l UrET &
SSa & T ford 3UROT &1 39T foham SITdT 872

(A) Modem | #sH

(B) Monitor | #Tfelex

(C) Printer | #gsh

(D) Hard disk | 8T8 f3¥s

answer: A,

Q33. Which is a shortcut key for ‘Copy’ command? | ‘&IdY" &g & ToIT eiiéehe FHofl et Al
g7

(A) Ctrl + V

(B) Ctrl + C

(C)Ctrl + A

(D) Ctrl + X

answer: B,

Q34. Which one is a “Don't” of information security? | @lel AT FaAT GI&TT T el 52

(A) Use hard to guess passwords | IrHdS T 3e#TeT ofallal & foIT el T T

(B) Disclose password to anyone | far&T &t 8ff araas same

(C) Take backup data of your PC periodically | §I-H& U 3791 UIET &l Seh3TT ST of
(D) Encrypt laptop hard drive and mobile devices | &iTerd &7 3139 3R HiaTSel 39Ol i
Uleshte Y

answer: B,

Q35. Which one is a cyber crime? | T8 3791 isT AT &7
(A) Sending email | ¥l HSTT

(B) Online purchasing | 3iTeemse TAERT

(C) Online gambling | 3fieTeTgeT SI31

(D) Chatting with friends | f&=T & araera

answer: C,

Q36. Which one is a file management tool that comes with windows? | isT &T B8 HAHT
<ol ¢ Sif TaSTeT & &Y 37T 872

(A) Control panel | Ferel YaTel

(B) Window explorer | [a3T TeFraTaRT

(C) Desktop | 3¥&erq

(D) Notepad | sircds

answer: B,

Q37. Which one is a search engine? | & &TeT hisT AT E?
(A) Flickr | fTFerenx

(B) Hotmail | gTeael

(C) Facebook | &g

(D) Google | 3qarer

answer:D,

Q38. Which one is a search engine? | I ol ahisT AT &7



(A) Flickr | et
(B) Orkut | 3iféhe
(

C) Hotmail | gfearer
(D) yahoo | arg
answer: D,

Q39. Which one is a social networking site? | &Il sicafhdl ATSC hisT AT 5?2
(A) Outlook express | HT3Celeh TFAYIH

(B) Facebook | W

(C) Lotus notes | &ilcq aAlcH

(D) Mozilla | #fSter

answer: B,

Q40. Which one is a web browser? | as ST391X il AT g2
(A) Facebook | hegeh

(B) Hotmail | gfcHer

(C) Internet explorer | 3e{ac THFETARR

(D) Outlook express | T3Celeh TFAH

answer: C,

Q41. Which one is an input device? | $19c f3arsd ®leT aT g 2
(A) Speaker | T

(B) Joystick | Siif¥ew

(C) Monitor | Affaex

(D) Printer | ®eX

answer: B,

Q42. Which one is an output device of the computer? | HtgeX &I 3T3cYe fSarsd i AT g ?
(A) Printer | fBiex

(B) MIC | HT5s

(C) Mouse | AT3H

(D) Keyboard | &S

answer: A,

Q43. Which one is NOT a storage device? | &lsT IT TeR < f3arsq w181 §7
(A) Printer | f¥ex

(B) Video tape | difsar ¢ca

(C) USB flash drive | USB wol2l 38T

(D) Memory card | HARY TS

answer: A,

Q44. Which one is the disadvantage of social networking sites? | &TleT AcafhaT ATSCH T
oJehdTeT hleT AT 872

(A) Instant communication | el STereiie

(B) Make addictive | oIl oI3T=T

(C) Access to information | STTeTerIRY &1f&el T

(D) Online marketing for business | SITIR & foIT TS HAThieaT

answer: B,



Q45. Which one of the following options shows the synonyms for a word, we type in MS
word? | FFAfafad & & slet &1 fasred frelT ereg & gATard &t geifdr 8, I g7 TATa a3
H T3 ad 872

(A) Thesaurus | &rar

(B) Spell check | ad=iT ST

(C) Hyperlink | gT8mTele

(D) Style | el

answer: A,

Q46. You withdraw Rs_500/- from an ATM_ The ATM machine gives out Rs_5000/-_ Which
of the following would be ethically correct? | 39 TETH & 500/- 9 Aol & verws 72T
5000/- 393 &t ¢, eaafafla 7 & @i a1 sifas §9 & Ter gem?

(A) Make a complaint | frTad got &

(B) Take the money | 94 I& of

(C) Drop the money near ATM | TETH & g S BI5 &

(D) Give the money to the poor | I¥rsT T AT &

answer: A,
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Module:3. communication skills IR shieTer

Q1. “KAIZEN” means | “oied” &1 31T §

(A) self-discipline | 3TcH 3eIRMHeT

(B) preventive maintenance | faRTereh 31ejRator
(C) sorting out | FeTST=AT

(D) continuous improvement | ﬁ?FITHJUIT
answer: D,

Q2. Choose the correct context of the given expression in group discussion” Excuse me, |
would " | FHg <At A fEU T SHoTeh T HET Head] Toi” &TAT Y, A ’
(A) Interrupting | ST4IT STelT

(B) Agreeing | HEHTA STclTell

(C) Summarising | ERTLT

(D) Emphasizing a point | Teh fig o ST e

answer: A,

Q3. Communication that involves exchanging information without use of words is called |
TAR TS| 2reat & 39ANT & 4T AT &7 3STT-HeTel AAS &, FEelrell &

(A) verbal communication | #l{ &% FaR

(B) pictorial communication | T H9R

(C) written communication | feif&a Tar

(D) non verbal communication | 3TsTehgT AR

answer:3,

Q4. Dedication to a particular work is called | fF&Y Ay 1 & 9fa GHIUT Fgarar g
(A) confidence | 3TcATARaTH

(B) commitment | Sfdegerdr

(C) Intelligence | Seferaar

(D) integrity | TcaTeTsaT

answer: B,

Q5. Dedication to a particular work is called | fr&Y Ay &1 & 9fa GHIUT Fgarar g
(A) integrity | Gcafasar

(B) confidence | 3TcATaRarT

(C) commitment | Sfdsigerar

(D) Intelligence | e f&rFar

answer: C,

Q6. Expansions of SMS is | THTHTH & AEdR &
(A) Simple Message Service

(B) Short Mail Service

(C) Simple Memo Service

(D) Short Message Service
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answer:D,

Q7. For “SMART” Goal, S stands for | “SMART” oI&& & foIw, S #1377 §
(A) social | GTATSIHR

(B) scientific | d=TTfaten

(C) specific | faferse

(D) strength | e

answer: C,

Q8. Gesture “biting nails” shows | ETaHIE ‘ARG HIeaAT” fe@rdr &
(A) boredom | 3&THT

(B) insecurity | 31G&T

(C) confidence | 3TcATa?aTE

(D) defensiveness | SdTd

answer: B,

Q9. Gesture “Brisk & erect walking” shows | gTa#Td “det 31X drerm =relar” G@rar &
(A) boredom | 318

(B) defensiveness | Sd1d

(C) confidence | 3TcATaRara

(D) insecurity | 3T{&T

answer: C,

Q10. Gesture “Brisk erect walk” shows|gTaHTd “fa¥ 3¢ dier” fe@rar &
(A) insecurity | 3TI&T

(B) boredom | 3c1{

(C) confidence | 3TcATARATH

(D) defensiveness | sidTd

answer: C,

Q11. Goals are categorized as | of&at Y dafichel fehar 12T &
(A) good and bad | Mﬁ?ﬂﬂ

(B) inner and outer | $adr 3R agdr

(C) intrinsic and extrinsic | 3TARe® 3R sTET

(D) short-term and long-term | 3Teqehifois 3R Erepifas

answer:D,

Q12. Goals are classified as | oT&at T gafichel feohar a7 &

(A) big and small goal | 13T 3R Bier of&T

(B) long term and short-term goal | &reTaTielan 3R 3Teuehifore &t
(C) important and not important goal | FgcaquT 3R T AgcaqoT sa
(D) intrinsic and extrinsic goal | 3TdRe 3R ST of&g

answer: B,

Q13. In face to face communication, body language accounts for | 3TH=I-HTH HAR &, S1ar
drasTgrar

(A) 7%

(B) 38%



(C) 55%
(D) 100%
answer: C,

Q14. Intrinsic motivation is...... | 3TARE RO ...

(A) short lived | 3TeqehIfeleh

(B) long lasting | &reTenTiorent

(C) for money or reward | 3& a1 3T & faw

(D) to gain social acceptance | HTATISIh Fdlehicl UTed el & fw

answer: B,

Q15. Listening to songs only to derive pleasure comes under | hdel 31TeIG ITcd Hial & oI
oY GoAelT SEH HcTaTed 37Tl &

(A) critical listening | 3TelleI=lTc#eh Folal

(B) therapeutic listening | RIfhed =T srgoT

(C) appreciative listening | TRTE=IT Fetel

(D) comprehensive listening | A9 HdUT

answer: C,

Q16. Motivation is categories into | 90T ATOIAT F &
(A) intrinsic and extrinsic | 3TdaRe 3R aET

(B) good and bad | 3/ 3 1

(C) inner and outer | $radT 3iRX sTEdr

(D) high and low | 33T 3R #rar

answer: A,

Q17. Noise, physical discomfort of hotness or coldness comes under | IR, IT#HT IT 33F
QTR TR F AT 3T &

(A) culture barrier | EEhcT STem

(B) language barrier | $TST SITIT

(C) perception barrier | €O &TRIT

(D) environment barrier | ITaROT STeIT

answer:D,

Q18. Rise and fall of pitch of voice is called | 3TarsT ST e &7 35T 3R FRAT FgaATaAT &
(A) vowel | TX

(B) intonation | §cleTereT

(C) consonant | e&TeT

(D) pronunciation | 3TJaROT

answer: 1,

Q19. The study of right and wrong in human endeavours is called | #leld TG H TEr 3R
T o 3T T gl ST §

(A) motivation | 90T

(B) self-awareness | 3TcH SITIT&RhdT

(C) ethics | 3R faaR

(D) goal | o1&

answer: C,



Q20. What is a drawback of role playing? | $f#ehT fel$1Tel 3 /T el 872

(A) Builds confidence | 3TcATaRaTd =TT &

(B) Develops listening skills | Fetet T shteret faehfe &Yar &

(C) Doesn't provide real situation | aEafa® AT TeTeT 8T HIT

(D) Develop creative problem solving | TdellcHes THEIT AT Taeh & &Y
answer: C,

Q21. What should come next after “selecting the solution” in problem solving process? |
THETAT THATT TR & “THTENH HT T A o TG 3T FAT JHTAT ATRT?

(A) Look for alternate | derfeden hr delTel Y

(B) Root cause analysis | #eT HRUT faeyor

(C) Identify the problem | THEIT &l ggaTAT

(D) Implement the solution | Wﬂﬂ]\aﬁ'

answer:D,

Q22. Which factor helps to motivate people? | lsT AT R aAldlt I GRT It H FAGG Hcl
g7

(A) Lack of focus | €3TeT T T

(B) Lack of confidence | TcATaRaTd T shaT

(C) Lack of direction | f&err &r et

(D) Lack of nervousness | GERI&C T T

answer:D,

Q23. Which one is 3 P's of public speaking? Ufccer ThaT T 3P shisT AT &7
(A) Possess, present, practice

(B) Prepare, Practice, perform

(C) Publish, pleasant, perfect

(D) Perfection, Performance, painstaking

answer: B,

Q24. Which one is a “Do’s” for interview etiquette? | AT&TchR ISR & foIT “oFT " it
arg?

(A) Nervousness | gsTgc

(B) Informal dress | 37ata=nRes aems

(C) Clam approach | Foid gfSeahioT

(D) Excessive gesture | 378 gIasiia

answer: C,

Q25. Which one is a “don’t” in interview etiquette? | AT&TTcehR TASETAR 3 ahisT AT ‘T §2
(A) Be confident

(B) Dress appropriately

(C) Proper eye contact

(D) Lie about your abilities to get job

answer:D,

Q26. Which one is a barrier to speaking? | STelel 7 hieT STUT &7
(A) Poor listening | WRTS Felall



(B) Lack of time | THYT I AT
(C) Nervousness | gsllgc
(D) Reluctant to read | g & T 3ifege

answer: C,

Q27. Which one is a Do’s in interview etiquette? | il AT Teh AT&TchR H fArSeaR 872
(A) Dress too casually | Tgd SITaarg!r & QiR

(B) Lie about abilities to get job | ey aTeY T Mezar F e & S1G defell

(C) Be confident | 379« 31T I #RI4ET IW

(D) Too excessive in gesture | Sgd 37T gradTd

answer: C, °

Q28. Which one is a good communication? | &l I TAR 3T g2
(A) Message is clear and direct | T¢er T0se 3R @RTg

(B) Message is ambiguous | T&er 3FTse &

(C) Sender attacks receiver | 99 gaRT RETGX 9 gHeT

(D) Receiver doesn't listen to sender | STCcTehcil U¥eh T &1 Fotcll
answer: A,

Q29. Which one is an email etiquette? | 3l fRIseraR @it @TE?

(A) Keep email short | $3eT &1 BT IW

(B) Send virus infected mail | aRRA T AT Fel Fal

(C) Forward false messages | 3[& Ha21 &l BRES &Y

(D) Use all caps or small letter in email | $5eT & T 93 318RT AT BIC I7&RT T TAIT HL

answer: A,

Q30. Which one is considered to be a good communication? | &ie AT Teh 3TST TR A
ST 87

(A) Message is ambiguous | T&2r 37 ETse &

(B) Sender is positive towards receiver | 9% RIET & Ui hRIcHS &

(C) Receiver doesn't listen to sender | ITcdardl YV &I 7T goAdr

(D) Sender attacks receiver | 99 GaRT RENGT 9T g

answer: B,

Q31. Which one is considered to be a poor communication? | fh8 TWRTE TR AT ST 62
(A) Message is ambiguous | T&2r 37ETse §

(B) Message is clear and direct | T¢er ¥9se iR @er g

(C) Receiver is open to listen | R Fofel & forw et &

(D) Sender is positive towards receiver | 99& R&TaR & Ifd GhRIcHAS &

answer: A,

Q32. Which one is NOT a benefit of oral communication? | #If & TR I hleT AT T g
e?

(A) It is quick | Tg STear &

(B) ltis for record | I8 Repis & fow g

(C) ltis direct | Tg TcT&T &

(D) Feedback is immediate | fafshar dcerel §

answer: B,



Q33. Which one is NOT a part of Triple ‘A” listening? | et & feTel ‘A" GeTat T TEEHT 7161 87
(A) Anxiety

(B) Attitude

(C) Attention

(D) Adjustment

answer: A,

Q34. Which one is NOT an article? | &lsT @T Ueh 3MT{Ehel AGT 672
(A) a

B) an

(C)in

(D) the

answer: C,

Q35. Which one is NOT an essential characteristic to achieve success? | FlsT T Teh THelcT
gIcd el & foIT Teh 39T [vdr =181 &7

(A) Commitment | Sfdseerdr

(B) Integrity | 37@sdr

(C) Confidence | 3TcATaeara

(D) Unethical work | 3=ifaes &y

answer:D,

Q36. Which one is NOT the outcome of positive attitude? | PleT AT HHRTcHS TTOCHITT T
qRoTe At &2

(A) enthusiasm | SiTer

(B) creativity | TdelTcHhAT

(C) boredom | 3eT&Y

(D) problem solving attitude | TFHTIT THTETA IGAT

answer: C,

Q37. Which one is the latest and effective means of modern communication? | HTWW
T ATAdH X THTIT ATEIT HleT AT &2

(A) Fax | e

(B) Postal mail | 3T #Hef

(C) Electronic mail | Selareifole &el

(D) Message through TV | E1dT & ATEIH T T el

answer: C,



ITI Emplobiality Skill Nimi Question www.ncvtonline.com

Module:4. Entrepreneurship skills | 3¢ITRdT shieret

Q1. A person who is associated with the starting of business is called | a8 SafFd it STTaTT
Y QLRI A SI3T 81T &, Fgeldl ¢

(A) merchant | SaTIY

(B) entrepreneur | 3T

(C) businessman | cIa&TAY

(D) sales executive | Hod TeFdegfed

answer:B,

Q2. As compared to small scale business, large scale business require | B¢ YT &
AT T JoIAT H I3 VAT & TG T 3Tl glcll &

(A) less no. of persons | STTFIAT T e TEAT

(B) less no. of capital | GaiT T s HEAT

(C) more no. of person | 31fe% F&ar 7 safed

(D) small machines and tools | BeT #Fefiel 3R 3THIOT

answer:C,

Q3. Entrepreneurship is also termed as | 3¢ATHAAT &I & ®9 H &1 gl ST g
(A) investor | S=a¥eX

(B) employer | TFCTIR

(C) self employment | TaRISTETIX

(D) employment seeker | JST9TR 18T aTelT

answer: C,

Q4. For medium manufacturing enterprises, the investment in plant and machinery is
between | ALIH RAfAATT 3eTAT & fow, §97 IR AMAT A Aqar F Mg g

(A) 10 Lakhs to 2 Crores | 10 oT& & 2 S

(B) 25 Lakhs to 5 Crores | 25 aIg ¥ 5 #I3

(C) 2 Crores to 5 Crores | 2 a5 & 5 S

(D) 5 Crores to 10 Crores | 5 U3 & 10 FIS

answer:D,

Q5. In “SWOT” analysis, “S” stands for | “SWOT” fa2avor &, “S” 1 37T §
(A) Success

(B) Strength

(C) Survey

(D) Service

answer:B,

Q6. In an economic growth, role of entrepreneur is to | 31T faere 7 3eT#T $r o7fFe gl
&-

(A) generate unemployment | SRISTTRY YeT ST

(B) stagnate standard of living | T&2X SiigeT TR
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(C) improve per capita income | 9l safere 3ma & GUR
(D) unbalance the regional development | 311 faeh T T 3TN STl

answer:C,

Q7. In SWOT analysis which pair is helpful? | SWOT fa2eivoT & i T SIS g g7
(A) Strengths, Weakness | dTehd, ShasIRT

(B) Strengths, Opportunities | dTehd, 3IdaX

(C) Threats, Weakness | €78, ShesiRT

(D) Threats, Opportunities | €75, 3G

answer:B,

Q8. Money invested in purchasing of raw materials, payment of wages and salaries, rental,
electricity tc comes under | ST HTel & @G, HTEIT X ActeT T 3aTclTeT, T, fosrell et
# foraer forar s dar 3mar &

(A) working capital | &refrer gl

(B) fixed capital | 3TereT it

(C) long term capital | ETerepTellel Yait

(D) capital income | GaiTret 31

answer:A,

Q9. MSME stands for | THUHUHS T AT &

(A) Micro, Scale and Medium Enterprises | {&#, Tohel 3R ALTH 36TH
(B) Macro, Small and Medium Enterprises | #r, o€ 3 #ead 3¢gA
(C) Micro, Small and Medium Enterprises | g&H, off] 3R HEIH g
(D) Minor, Small and Medium Enterprises | €, aqﬁ?mmm
answer:C,

Q10. Paid form of ideas, goods and services are called | fd@RT, ﬁﬁﬁﬁﬁ%ﬁ?ﬂ
&Y Hgelld ¢

(A) publicity | 9aX

(B) goodwill | HCHTIST

(C) public relation | ST=TEIS

(D) advertisement | fa=iToeT

answer:D,

Q11. The enterprises engaged in the production of goods is known as | AT & 3cdTGed H ofdl
3CTHAT A & T H SATAT STAT &

(A) manufacturing enterprise | %mﬁwm

(B) service enterprises | €aT 3¢IH

(C) micro enterprises | 37fa oTg 3‘d[~’ﬂﬁT

(D) macro enterprises | Hshr 3¢IH

answer:A,

Q12. The expansion of GDP is | S84y &7 farar &
(A) Gross Domestic Product

(B) Godown Demand Product

(C) Grand Demand Product

(D) Giant Domestic Product



answer:A,

Q13. The expansion of SIDO is | SIDO & [JEIR &
(A) Small Industries Development Organization

(B) Small Income Development Organization

(C) Small Investment Development Organization
(D) Standard Industry Development Organization
answer:A,

Q14. What approach is used to gain access to foreign markets and quickly promote an
organizations interest? | facel STSIRT de Y8 UTcd et 3R HraaT & fad r ferdar & serar
&Y ¥ T Rrg TRERIOT ST 3YAT RRAT ST &2

(A) Licensing | aTs&f&eT

(B) Collaboration | Fg1eT

(C) Joint venture | g 3¢TH

(D) Technology transfer | dehaiiehl gETAROT

answer:C,

Q15. Which investment is considered for deciding the status of manufacturing enterprises? |
faferaTor 3egAT i fFufa g ata & fore fara [Ader o e fesam Sirar g2

(A) Working capital | srefrer gair

(B) Building and land | #7asT 31X 81f3

(C) Plant and machinery | §I= 3 7MoY

(D) Salary of employees | FFTRAT &7 =T

answer:C,

Q16. Which one is a correct channel through which marketers can reach customers? | &isT
T U TEl ATl & To1dh HATETH & [a9uTeh g t—l?qgu b 57

(A) Manufacturer -> Retailer -> Wholesaler -> Customer | f#T0T -> Te1 faghalr -> Uleh
SITIRY -> ATgh

(B) Manufacturer -> Customer -> Retailer | f&Tar -> amges -> gelr [EETI

(C) Manufacturer -> Retailer -> Customer | f@&Tar -> gei fashdr -> aMgh

(D) Manufacturer -> Retailer -> Customer -> Wholesaler | T &TdT -> e fashar -> amgeh ->
AT SITIRY

answer:C,

Q17. Which one is a web based accounting | FlsT AT Teh dd 3MTRA oI@Ihe ¢

(A) software designed for modern business? | 3TtIfeeh eTa@TT & foIv f3airgsT fohar ra
AFEII

(B) BUSY

(C) TALLY

(D) WINGS

answer:C,
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Module:5. Productivity 3cqrgahdr

Q. During using ATM, Authentication is provided by customer by entering | TEITH &l 3UINAT
el & GRIe, Mg GART Gol Feh FHTONAIT HeTel fahdT ST &

(A) cash | sTshq

(B) IFSC | 3TSURTHHT His

(C) PIN | et

(D) KYC | harsdt

answer:C,

Q. Expansion of ATM is | TEITH & [aEaR &-
A) Asynchronous Teller Machine

B) Automated Teller Machine

C) Automated Time Machine

(D) Autonomous Time Machine

answer:B,

(
(
(

Q. Low productivity will lead to | ST 3cATGehdT & HIRUT GIaTT

(A) job security | siieRT ST TR&T

(B) political stability | TreteNereh FE2RaT

(C) decrease in GDP per capita | 9l caTFd Hehol T 3cUTE H Ha!
(D) increase in GDP per capita | 9fcl ST Hehel B 3cUTe, H gefer
answer:2,

Q. Production is defined as a ratio of | 3cdTGeT T 3feTaret & &7 H gRiNa T = g
(A) output / input | 3T3€YC / $eTYC

(B) input / output | geT9C / 33T

(C) output / skill of workmanship | 3caTeel / SR T Hierer

(D) input / skill of workmanship | $eTqC / HRITRY T hirel

answer:A,

Q. the process used by a business to verify the identity of their client is | Teh cTTHT CaRT
379 ATEh I UgdTeT AT el o TlT 3TANRT T SATeT dTell JishaT &

(A) GDP

(B) KYC

(C)ATM

(D) TFP

answer:B,

Q. What is the advantage of automation? | TaaTeleT ST ST oIT &2
A) Reduced operation time | &3 TaTelel &I
B) High initial cost | 3Td IR #e arerd

(
(
(C) Unpredictable development cost | 39T faer & oeTd
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(D) Security threats | F&T TR
answer:A,

Q. What is the unemployment rate if there are 125 million people in the labor force, 100
million people employed and 25 million are not? | SRISTITRY ST &I T ¢ TG 4H T & 125
fAferger et €, 100 fAferast dier ik & 31k 25 fAfoaa agT 82

A) 25%
B) 20%
C)17%
D) 15%
answer:B,

(
(
(
(

Q. Which market determines the real wages and employment? | &l T SToIR arEdfdeh
Aot 3T AT AU T 87

(A) Capital market | GaiT STeIR

(B) Labour market | 51H SToIX

(C) Money market | HeT STelR

(D) Goods market | H#TeT ST

answer:B,

Q. Which one is used to measure the economic performance of a whole country or region? |
QX SR T &1 o 31T YG 2T hl AT o ToIT feharent 3UATaT foham STl 872

(A) KYC

(B) GDP

(C)TFP

(D) ATM

answer:B,

Q. Which one of the following is NOT a category of pure risk? | fa&ifalf@d & & @leT geer
ST Fr Joft 787 §72

(A) Property risk | §ufar Sif@s

(B) Technology risk | Sleafarhr Sif@a

(C) Liability risk | g1Rca Sif@#

(D) Personnel risk | S1fae i@

answer:B,

Q. Which one of the following is NOT an objective of incentive? | feAfalf&d # & sleT AT
WcHTET & 366 o8l 87

(A) Improved quality | S&cR J[OTaT

(B) High cost of production | 3c9TesT T 3T olTeTd

(C) High output | 3Td 3cdrced

(D) Reduced waste | & 3797IsC

answer:B,

Q. Which one of these documents is NOT acceptable for fulfilment of KYC norms? | 378 &
leT T GEATAST FaTgd! ATTCST T G et & TIT Tl LT g2

(A) Voter ID card | @l 31TS3I 18

(B) Ration card | 121 HI5




(C) Residential certificate | TATEIT YHTOT 95
(D) Income certificate | 3T YHATOT 95
answer:D,

Q. Which stage is a period of rapid revenue growth? | ahisT € 37a€dT dlier T Jefer hr
Jafarg?

(A) Growth stage | gefer =RoT

(B) Maturity stage | 9Rueradr 3/a€T

(C) Decline stage | RTae T TROT

(D) Introduction stage | 9R==r TROT

answer:A,
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Occupational safety - Employability Skills Nimi Question

ITI Emplobiality Skill Nimi Question www.ncvtonline.com

Occupational safety URTTd gRé&

Q1. ABC of first aid stands for | WT4f® I #1 ABC F1 31f &
(A) Airway, Bleeding and Circulation |E|T§J,'1:I'ITf, TaTd 3R TR
(B) Airway, Breathing and Circulation | IRIAT, 41 3R TRE=ROT

(C) Airway, Bleeding and Compression | GTQTFP‘T RESEIC] SﬁTﬂTﬂ?ﬁ
(D) Airway, Breathing and Compression |3Tﬂ'l:ﬂ1f, 9 \ﬁ??ﬂﬂ?ﬁ

answer:B,

Q2. At what decibels, sound becomes hazardous noise pollution? | fpa SfRea w wfy @ aRae ﬁﬁw CLl \'rl'l?ﬁ%?
(A) Above 30 | 30 ¥ FWR

(B) Above 80 | 80 ¥ IR

(C) Above 100 | 100 ¥ SR

(D) Above 120 | 120 § S|

answer:B,

Q3. Earthquake is measured with an instrument called | waﬁmwﬁwm%
(A) telegraph |éFﬂ'ﬂTq7

(B) seismograph |ﬁl@‘5ﬂtﬁ

(C) oscillograph | TRIAUTEH

(D) bar graph | R 9%

answer:B,

Q4. Head protection is done through | Rr ot & frad areny A Ft STt %
(A) helmet | 38T

(B) goggles | T=H

(C) gloves | [ESIE]

(D) mask | AR

answer:A,

Q5. In firefighting method ‘Starvation’ is | 3IRRME Ugfd # CRAR @
(A) limitation of oxygen | St &

(B) pouring water | T HRAT

(C) elimination of fuel | S BT JHH

(D) reduction of temperature | ATTHE H HH!

answer:C,
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(D) Effective safety and loss control program | qyrdt gRE&Em IR BT e Hrdery

Human Factors
Engineering:
Register for Week
1, Week 2, or Both

Nexus at U-M Engineering
answer:D,

Q7. Ozone layer is made up of | 3T URd BT F4T ﬁ'clT%
(A) one oxygen atom | Ud S{TeRiTo URHTT]

(B) two oxygen atoms | al afa:sﬁaqum@

(C) three oxygen atoms | GG HWGT:TWTQI

(D) four oxygen atoms | IR Gﬁﬁ\—rﬂm

answer:C,

Q8. The reprocessing of discarded materials into new useful products is called | ¥ Iy 3?‘1133[ H ufvegad Il &1
AT HEaTal §

A) reuse of waste material | 3{ARIY T &1 GH: ITINT"

B) recycling of material | et &1 WUT

C) management of solid waste | B HR BT g&eq

D) reduction in use of raw material | Fe HTd & IUART H HHT

answer:B,

(
(
(
(

Q9. The study of living things in relation to their environment is called | Tiidl ®T 3% qgiaRur & HaY ® AT Hedrdl g
(A) ecosystem | TIRUfAHT o=

(B) economics | S

(C) ecology | GRfRUfcanT

(D) eclogue |Q?K“m'[

answer:C,

Q10. The three R’s to save environment are | TI1aR0T & 991 F forg fi9 3R &

(A) Reserve, Reduce, Recycle
(B) Reuse, Reserve, Reduce
(C) Reserve, Reuse, Reduce
(D) Reduce, Recycle, Reuse
answer:D,

Q11. Vibration and radiation comes under | $U 3R faf$0r & il amar @
(A) chemical hazards |Wﬂﬁ$@ﬂ%

(B) physical hazards | TR SifaH

(C) electrical hazards | faggdIa TarT

(D) psychological hazards |ﬂ=ﬁaﬂ'ﬁ$@ﬁ§

answer:B,
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(D) Earthquake | YbU
answer:0,

Q13. Which one is a non-renewable energy resource? | P mwﬁ?ﬂ'qﬁwﬂu ol AT %?
(A) Solar

(B) Coal

(C) Methane

(D) Hydroelectric

answer:B,

Q14. Which one is an unsafe condition for work? | P 3t fRufay w0 & forg Wf&l’d%?
(A) Oily floor | 3fTael TR

(B) Good light | 313t =T

(C) Proper tools | 3feid ST

(D) Adequate ventilation | Tae a1g TAR

answer:A,

Q15. Which one is the main greenhouse gas responsible for global warming? | T aiffT & ﬁl'l'{ R E’@Im bE: |
Can bk

Human Factors
Engineering:
Register for Week
1, Week 2, or Both

Nexus at U-M Engineering

(A) Hydrogen |€13@GFT

(B) Oxygen | SHTRiTSH

(C) Nitrogen | TgeIo

(D) Carbon dioxide | HTe STZAHZS

answer:3,

Q16. Which one of the following is NOT an ergonomic hazard? | FafifEa & & #19 v wiiHife T 78 82
(A) Awkward position | 3rong fRufa

(B) Poor housekeeping | WRTd BRAPITT

(C) Emotional disturbances | WT@—S‘T

(D) Wrong layout of machinery | TR &7 TTed @3mse

answer:C,

Q17. Which one of the following is not part of 3 R’s? | fAEfIf&d & ¥ #19 3 R &1 UTT 78T 82
(A) Reduce

(B) Recycle

(C) Regenerate

(D) Reuse

answer:C,
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Module:7. Labour welfare legislation S/H sheT0T ehlefel

Q1. As per factories act, 1948 canteen should be provided in the factory if, workers are more
than | SRETT JTATATH, 1948 & ITHR HRETA H HEVeT ST SFGEAT T STTA TR, A AfAR
a 3w g

(A) 100

(B) 250

(C) 500

(D) 1000

answer:B,

Q2. Under factories Act, the restriction on working time of women is | et Tee & dgd
ATGAT3T & P I & TFHI W Ifaeer g

(A) before 5 AM and beyond 7 PM | &g 5 ST & Ugel 3R A 7 9o h &l

(B) before 6 AM and beyond 7 PM | g 6 ST & Tgol 3R o1& 7 591 o dTe;

(C) before 6 AM and beyond 8 PM | §9& 6 &Isl & Jgel 3R I 8 551 & alTe;

(D) before 7 AM and beyond 8 PM | & 7 &91 & Ugel 31X T 8 &t & TG

answer:B,

Q3. Under Factories Act, the workers weekly hours should not exceed more than | RWETAT
IRATATA & dgd, ATAST & Frearigss °g¢ F 317U A1 glel AT

(A) 60 hours | 60 &

(B) 50 hours | 50 &¢

(C) 48 hours | 48 ©¢

(D) 40 hours | 40 &

answer:C,

Q4. What is the expansion of ILO? | ILO &T fa¥dR &1 7
(A) International Labour Organization

(B) Indian Labour Organization

(C) Indian Labour Occupation

(D) International Labour Occupation

answer:A,

Q5. What is the minimum percentage of employee’s contribution from the basic salary, as
per EPF Act, 19627 | STTT® 3fRITAT#, 1962 & HTHR FHeT dclel & HeAaRI o 1aTeleT i
eI H gfaRrd #ar g?

(A) 8.50%

(B) 9%

(C) 12%

(D) 12.50%

answer:C,


http://www.ncvtonline.com

Q6. Which amount does include in “wages” amount as per payment wages Act? | 3ITdTeT
FoTEL ORI & IR “Foed TR & Hiet dr TRY anfirer &2

(A) Dearness allowance | FgIS 3T

(B) Any travelling allowances | &1 3T JTaT 87T

(C) Any remuneration payable in respect of overtime | 3aReSH & T & 2T 15 TIRSAF
(D) Any remuneration payable under any award | oY 8ff TXERR & TEd ST HIS TRATAS
answer:A,

Q7. Which factor is NOT concerned with occupational health and safety? | @lel &T R
TGATA% TAELY 3R GR&T & HeI e w7gT 872

(A) Safety | gI&T

(B) Health | ¥FarEeg

(C) Welfare | shedToT

(D) Salary | adsT

answer:D,

Q8. Which one of the following is an air pollutant? | A& RAIT & & it aTg Teueh &2
) Oxygen | 3iTar&EsTT
Nitrogen | sITS¢ISTel
C) Carbon dioxide | STl STS3TFATSS
D) Carbon monoxide | el AAITFASS

answer:D,

(A
(B)
(
(

Q9. Which scheme of Act provides health insurance requirements for workers? | 3if&fags
T HleT T 1ot HTAGT & foIT FareeT AT ITT2TRATHT Y Y&Tel Xl 572

(A) Factories Act | R@TET 3ifafagsr

(B) Plantation Labor Act | J&TRIYOT #& Jfafags

(C) Employee’s Compensatlon Act | eERY F3TTaST Jifaferas

(D) Employees state Insurance Act | AT s S s

answer:D,




ITI Emplobiality Skill Nimi Question www.ncvtonline.com

Module:8. Quality tools 3[OTadT 30T

Q. Fishbone chart is also called as | €T ATC T F T F Y FET AT &
(A) cause and effect diagram | ROT 3R 91T 3IRG

(B) scatter diagram | TR foaR O

(C) control chart | fI=oT TIe

(D) histogram | fg¥erams

answer:A,

Q. In PDCA cycle, ‘P’ stands for | 93RATT =k &, A" &1 377 §
(A) Process

(B) Plan

(C) Problem

(D) Procedure

answer:B,

Q. The expansion of QMS is | QMS &T TAEdR &
A) Quality Management Standard

B) Quality Measurement Standard

C) Quality Measurement System

D) Quality Management System

answer:D,

~ o~ o~ o~

Q. The PDCA means | 9IS &7 317 &
(A) Plan, Develop, Control, Act

(B) Plan, Do, Check, Act

(C) Plan, Develop, Check, Act

(D) Plan, Do, Control, Act

answer:A,

Q. Total number of popular quality tools are | SIS ST IOTET ITHIOT T Hel TEAT &
(A)9

(B)8

(C)7

(D)6

answer:C,

Q. What does “SERI” stand for? | “&R” &7 &/aT 37T &2
A) Sorting out | FeTSIT=T

B) Self-discipline | 3TcH 37eIITHsT

C) Standardization | FTeTehIanoT

(
(
(
(D) Systematic arrangement | SIATEAT cTTEUT
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answer:A,

Q. What is the function of “Histogram” in Quality tools? | I[UTaIT 3UEhUT & “TEESATH" T F4T
g2

(A) Narrow down the problem area | GHEIT 817 &l HH L

(B) Effect of discrete causes | 378 HRUI HI THT

(C) Indicates shape of distribution | faaRoT & 3R i ATAT &

(D) Assess factors for problem | TFHETIT o Sh1ehi T TTeholed Y

answer:C,

Q. What is the last step in ISO 9001 registration? | ISO 9001 GsftenxoT H 3ifa# TRoT FT 872
(A) Corrective and preventive action | TR 31T AR FLas

(B) Internal audit | 31T oI@T L&

(C) Management review meeting | JeitleT HIET d&e","(D) Certification and audit | FATOTT
3R or@r areT

answer:D,

Q. What is the name used for word “waste™? | “379TRISe” 2lec; o ToIT YeFel ATH T &2
(A) MUDA
(B) MURA
(C) MURI

(D) MUSA
answer:A,

Q. Which formula is correct to quantify the quality | J[OTaIT @1 AT & fIT Siet AT FF HLET &
A)Q=P/Q

B) Q=QJE

C)E = E/P

(D)P=Q/P

answer:A,

(
(
(

Q. Which one is NOT a basic tool used in quality circle? | FaTfoIll HeheT 3 SII-AT Th ST 8H
g AR &7

A) Histogram | fg&eiameT

B) Pareto chart | IRl @1¢

C) Check sheet | effe &1 i

(D) Torque wrench | el& R

answer:D,

(
(
(

Q. Which one is NOT the certified ISO standard? | &lsT T YHTTOTT JTSTH3 ATeTh TgT 72
A) 1SO 9010

B) ISO 9001

C) ISO 9002

(D) ISO 9003

answer:A,

(
(
(

Q. Which one of the following is not the characteristics of quality? | fF=ifarfaa & & Sla-ar
I[OTACT T SI&TOT T8l 672



(A) Quality control | I[oTarT ferz=roT

(B) Quality of design | f3SiTgeT T IoTar

(C) Quality of assurance | 3TRaTHT T aoTadr
(D) Quality of non- conformance | ?\T-aog{«qdl $r IMER]
answer:D,

Q. Which statement of quality was stated by quality guru Dr. J. M. Juran? | BIUIEHT?;WET.
.U, ST o I[OTAT ST hlel AT HYUeT ST AT?

(A) Quality should be aimed | I[UTET T & gleAT AT

(B) Quality is fitness for use | JOTEAT 3TN & v fheaa &

(C) Quality is value for money | [0TarT 48 & foIv HeT &

(D) Quality is conformance to requirement | I[UTaT 3TIRIhI + 31 g

answer:B,




